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Exam #1 (Chapters | & 2) Name \J Date Period
SPRING 2012

USE THE METHODS SPECIFIED IN EACH PROBLEM, AND SHOW ALL STEPS TO
RECEIVE FULL CREDIT!!

1. In the blanks next to each system, classify each system as consistent or inconsistent, and
state whether there exists no solution, one solution, or an infinite number of solutions:
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Evaluate the determinant (row reduction or inspection):
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3.  Given the following matrices A, B, & C:
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b. Find A2-2CB
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Find the quadratic polynomial whose graph passes through the points (-1,5), (0,4), and
(1,9) using matrices.

p(x)= ax’ v bx + CX
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5.  Write the system of equations as an augmented matrix, and solve the system by Gauss-
Jordan elimination:
X —%—5x03=-1
—2x;,+2x, +11x3 =1
3y —x,+x3=3
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Evaluate the determinant using the cofactor method:
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7.  Solve the system of equations using Cramer’s Rule:
4x—z=5
3y+z=1
x—y=2
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8. The accompanying figure shows a network of one-way streets with traffic flowing in the

directions indicated. The flow rates along the streets are measured as the average number
of vehicles per hour.
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Set up a linear system whose solution provides the unknown flow rates, and solve the

system for the unknown flow rates (parameters will be utilized).
system; matrices are optional.)
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Is it possible for the road from A to B and from B to C to be closed for construction
(with traffic still flowing in their normal directions on the other streets?) Explain.
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If the flow along the road from C to D must be reduced for construction, what is the
minimum flow on each road that is required to keep traffic flowing?
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Solve the system using an inverse matrix:
Xy —2x, —6x3—2x, =4
X1+ X+ 2x3 4%, =-2
X —x3=1
3% +3x, +7x3+4x, =3
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